All the best for your Nursing officer exam
One day Advance Mock Test Dated 21/11/2020
All PGI'S Nursing Officer Exam in Haryana
(Rohtak Karnal Khanpur Mewat.......)
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GOLDEN CHANCE TO BECOME A GOVT NURSE
Time:-01.30 Hours Total Question :- 90
Instructions:-

> All questions are compulsory and carry equal marks.
> Use only black or blue ball point pen for bubble on OMR sheet

and marking your answer.

1. Oxytocine has a — half life of (c) 24 wk (d) 15 wk
(a) 2—-3min (b) 3 —4 min ~ 10. Synonymous of obestetric grip is
(c) 4—5min (d) 5 -6 min 77 (a) Leopold'-maneuver (b) Pawlik grip
2. Impaltation in occure an . B (c) Fundal grip (d) Umblicat grip
(a) 6" day after fertilization .« = 11. Missed abortion is also k/as
(b) 20" day of require menstrual cycle (a) Complete abortlon (b) Silent — mis carriage
(c) A&B v (c) Invertable ‘... (d) Septic abortion

12.Sheela comes"to. " “ANC clinic for her 2" |

antenatal visit. her. hlstory Suggestive of 2'

perlsous abortion and one term delivery her(

(d) None of the abov :
3. Longest dlameter |n pelwc mIet lS, S
(a) Anterior posteruor (b)Transver s:D_,
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(d) |\ANA mycme 17. Whatiis u:aSL time O

(c) Sterplo myuneft
9. Fetal heart sound an. be flrst ausculated wnth ~(a) 3=min. 7 _.(b)S—min
: i (c) 2= min (d)60—sec

18 WhICh follo(}vmg procedure always need

(c) Oblique Dlameter (d) N 0T the abov ” grawd&PARA aulculate I

4. Ketoaadosns occure dueto ef'cuent lntake v(a) G1P1 = 5 & (b)GyPy (
(a) CHO Fati o 0e i (@R T S (d) GaP4 i

(c) Protem f"(d)Mmeral ‘_13.‘Sm'allest bone of the body )

5. Most common cause’ ofMMR is ool = Xal. Femur P (b) Mcessater )
(a) Eclempsia . (b) Infection: = v Yo Stepedlous © 1.(d) Tibia :

(c) Preterm Labor (d) Hemorrhage . 14.calculate EDD when LMP is 7" may 2016 |

6. Snow - storm. appearance in usg is: th . (a) 14™Feb 2017 2 (b) 14™Jan 2017 :
character stic’s of (c) 13™Feb2017 (d) 13" Jan 2017 l
(a) Pre ecIempsra o (b) Hydalod ferm:‘ 15. Normal rage of fetal heart rate is i
(c) Battle dore—placenta (d) PPH : " (a) 80-100' . (b) 110-150 |

7. Normalvoloume ofamnlotlc fluid (c) 120 - 170 (d).>150: E
(a): 500ml g o » (B)200 mizt Rl 16. M/C/ site of ectoplc - pregnancy in rupture!

(c) 1000 ml = (d)700 mI { ~ condition. : : : '

8. D.O.Cin Ieprosy e ‘ :, ~(a) Ampulea * (b) lntesticia’l’ |
(a) Rifampicih'e (b) DAPSONE ~(c) Infundibulum _(d}is thmus |
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. 'surgical asepsis
wawta(a) Colostomy CARE

(c) Catheterization
19. Lysol is USE

(a) Dis. Infantact (b) Sterile agent

(c) Anti—Septic (d) None of the above
20. HIV client cloth disinfact except

(a) 1% Sodium hypochloride

(b) Ferm aldenyde

(c) 2% Gioteraldenyde

(b) Tracheostomy CARE
(d) None of the above

(d) Methyl —Alcohol
21. What is the complication excepted during liver
biopsy
(a) Hypertension (b) Hypotension tachy
cardia

(c) Hypotension & Bready cardia
(d) Tachy cardia

22. What is the duration of tracheostomy
temporary
(a) 6 —8 wk (b) 14 — 21 day
(c) >21 day (d) 1-7day

23. What is the expected by nurse when bIood
transfusion rate is 50 ml/hr N
(a) Sept|cem|a

in a hemophilica patlen,/
(a) FFP L (b) Factor
(c) Platlet S

nfaaalburn

(a) Facnaltent

(c) Venturl mask
26. Ambu Ba‘” t

when client feel urgency o
(a) 600 ‘ml (b) 500 ml
(c) 400 ml _ (d) 800 ml
28. Whrch of the foIIOng colostomy is. perform
for long except 2
(a) Slgmoud colostomy
(b): End colostomy :
(c) l.eft colostomy.
(d) WET colostomy :
29. Vit- B nameis
(a) Thiamine
(c) Pyrldoxme ‘/”’(d)Cynocobalamlne
30. Cleaning of the ey i has cIean from
(a) Inner to outer can Us jed e !
(b) Outer toinner canthus L v
(c) Mlddle of the eye to outer:ca‘nthus

o - 39. Early SIgn of renal carcmmg is

| 42.In dawn syndrome

(b) leoflavme |
L 44, Bone marrow blopsy site in adult -

”45 Anti dote heparlne

_—__—____———_———_-—'_—————_——_’—————.—_

—————

(d) Middle of the eye to inner canthus I
31. Weber & Renne test done for carnial nervel

examine
(a) C.N.—-1 (b) C.N. 9
(c) C.N. 8 (d) C.N. 10

32. Calculated drope factor when fluid is 500 ml
over in 5 hr drop factoris 20 is

(a) 32 drop (b) 33 drop
(c) 34 drop (d) 35 drop
33. Largest immunoglobine is
(a) lIgG (b) Ig A
(c) IgM (d)IgE
34. Which among the following is an indicater of
partal HTN
(a) Asterxis (b) Heamatemsis
(c) A&B (d) Confusion
35.100° f is equal to
(a) 37°C (b) 37.8°C
(c) 38.6°C (d) 38.8°C

36. Laryngospasm with strider is common with

(a).Hypeonulremia (b) Hyponalremia

'("c) Hyper calcemia (d) Hypocalcemia

37. Syphilis infection is caused by a
(a) Virus (b) Fungus
(c) Splrochete (d) Protoza

38. Which: of the followmg viral infection caused
kapon sarcoms 3}
(a) Human herpes V|rus 8
(b) Catomegalo vrrus ‘
(c) Rotg virus’ L
(d) Human paplloma vrrus

< (b) Flank pain

j n(c 5Pyor|a ~ (d) Hematuria

40 Causes of nephrogenlc diabetes insipid us
include” | : -;

\ (a)ln opathlc - % (b) Genetic

(c ) ‘Head'i |njury (d) Kidney Injury

41 In flamatlon of tlssue surroundmg the nail is

\ ./ “knowh. as f

(a) Kollnychla .

(c) Onychla '_:“'

" (b) Lubbing
(d) Paronychia

“7 (a) Trisomy +18 “(b) Trisomy -21

(c) Trisomy -5 (d). Trisomy — 13
43. Most common cancer in world in male
(a) Prostate | ~ (b)Lungs
(c) Coloreatal (d) Oral ; '

(a) Tibia®
(c) Femur

_x(B)? Fibula ,
«(d)1lliae’creast!

(a) V|t— / (b) F;rolt'é:min?e_s;ulphate



(c) Vit—E (d) Calcium gluconate
6. =1 TIg &1 qatgarE! veg ST

v anfaca

(a) Rex (b)

(c) atRst (d) 3rf

47. 9 ford ey &1 Sfera aref qangy |
NERCaIR SIS

(a) STET TS o 3T
(b) T — TS &R el
(c) UBTS WR XTs g1

(d) ¢ = 91 Far

48. the antonym of ‘artificial’ is
(@) Natural (b) Tailored
(c) Ordinary (d) Possible

49. Identify the meaning of the idiom — ‘To get rid
of.
(@) To quarrel with someone
(b) To reject someone
(c) To speakiill about someone
(d) To dlspose of ‘
50. ST X — o= (3 +§)

3 2] &7

(c) 1— () 23

51. %/ T AT R BT i 25,000 Wqﬁ
mﬁ%eﬁ@u%aﬁaﬁﬁ%ﬁ%lwﬁ%f‘
mmmﬁa%mmwmﬁmw

fepaett <l # v =nfew?/

(a) 33,150 - (b)29,325

(c) 34,500 (d)30,000 -
52. 3T ST DN |

1,4,9,1;3,23’,25,36 , :

(@9 . (b) 16

(c)23 (d) 25

53HﬁMN’cﬁT°TI’§§3ﬁ'\’MDWW§%T‘ﬁ
ﬁwﬁiﬁaﬁm‘hmmﬁfﬁaw%wﬁ?

(a) N,B T TS B |
(b) N,D T TS ¥ |
(c) MBGﬂ’ﬂg%I
(d) D,K T HTE B \
54, fasTel BRE Dl # afrege (Indlcate)?,;"f
(a) diee \ "(b)*cﬂ‘d
() iR~ (d) 3@
55, vt Seaen "sr"?ﬁs?-ﬂm%i
(a)i’zha S “(b) BeIREY
(c) ATEAA (d) TmifeTd

semwm"wfﬁa’rm“ﬂfr%w#g

ANIDBOG AT, TE s AT |

(a) Tr‘mmzﬁwrm (b) ﬁmﬂ—ﬂaa‘m
(c) Wae—vmnéq%a

(d) <ITen STSIUd NI

(a) TP (b) =1

(c) <= (d) IR
58. e N S

R 2

(a) SMTaATSTH (b) Hr

(c) TEEH ARATgS  (d) Bl STRiRITSS
59, Wmmﬁ@m%%

(a) warTad (b) Trferoa
(c) rEd® (d) TeTifa %
60. HTd [l R1E &1 g g 3F & l
(a) AOIRT M=TelM (b) 817 ®of &7 yded |
(c) HIg 3T=rer (d) SER T i
61. "gHR" Yded wrd Reg ¥? i
T (c) urIa (d) araTeT !
62. TS BYGET ) ARG W< g7 !
, (a) o& sl (b) 3rH T !
G (o) TR (d) rTI ;
| 63.31@ Al M BT T |AIRT oar? :
\ () y@feyT MYre . (b) v1@ got g :
L (RuEER RiE L (d) R T M R
‘-*};;564=|§3ﬁ€ﬁﬁ$%m3ﬁ’1’§%? !
| (a) 1 OTE 2011 (b) 5 BRARY 2015 |
(), 1/ TS 2015 L (d) 5 T 2017 |
fEGS"T@HTWEﬁ@ﬁﬁTHﬁ@ﬁWW:
. SURES B |
(a):HAU ©  (b) MDU |
| (e)iGIU. " (d) KUK !
| 66. X157 BT IR TS THE P ¥ |
@t (b) S e |
(o) AR R (d) Rrier i
. 67. @TS!. fheq @1 fAdye o= 87 !
L (@) dmEE ey (b) |HE AR ;
(o) W R C(d) ET T ;
ﬁssﬁwﬁaﬁq—wmm7mﬁﬂﬁa;
\(a) qrrﬁuﬁ (b) M =TT |
L REr (d) peeTen !
69 mwwwﬁwg? :
(a) T WL B9 (b) g HE™ b ]
(c) Sa <Tg gaTA (d) iR SR S&Tell |
- 70.Rem a9 sha =t Re@ 87 ¢ ;
(a) 3reTT (b) THUTH |
- (c) YTl (d) Ra==am i
71. &R YA faaw @9 AT SR 87 i
(a) 1 Sept. - (b) 15 July  © !
~(c) 9 March & (d)23:Septiiied :
72. g@msﬁamm%‘? | |
(a) feeen S (b) Tou '.
 (c) TvSHTS (d) JTITAT ',|
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(c) I (d) BTG (a) Fast (b) Powerful
74. AT &Y f Ry @ ™ e (c) Cheap (d) Self thinking
(a) arhud (b) R 88. Router is device
(c) VgD (d) T (a) Input (b) Output
75. ma Qe AL &7 aryer BF T (c) A and B both (d) None of these
(a) AR Sl Weex  (b) W &g Ry 3l 89. Scanner is device
(c) INa dreren (d) arfver s (a) Input (b) Output
76. &R @ fFE Rl ¥ g wedl @1 we (c) BothA&B (d) None of these
TH YT B° 90. What is the shortcut key to display the save as
(a) Jga® (b) R display box______
(c) Prarh (d) 5= (a) F8 (b) F12
77.8RQm & B W Rer RUR ded @ (c) F11 (d) F9
TR 87
(a) Mar (b) griTa
(c) o= (d) derdt

78. WIqiaR WRUTE Ao 6 & ¥ =g 87

79. 99 A& Tiq qren foem o9 w82

(a) BNISTETg LIRESING  ol—
(c) Rar (d) TR 4
80;@5&#%%%%%&%@ |
?

(a) BT 2 (b) B g

(c) =r=Tac (d)¥™ ¥ P &

81. A computer program that convert an entire

82. is the language that computer can

85.

83.The following is termed as |a
permanent memory o '
(a) Cache memory (b) Rom F |
(c) RAM (d) Flash memory, ‘
84.The smallest unit of computerized data is
known as
(a) Bit £ (b) Byte
(c) BothA&B (d) None of the above
The device that is used to read bar codeis ____
(a) OMR {(b) Barcode
(c) MICR (d) OCR

86. Full form of VIRUS?

—_———————-——n-—_—-—————-———-—-_—————.——-———-—-—-—_-..--...._
——————————— -

73. Hfieur HEd 8l W R 87 87. Modern computers are reliable but they don't |

(a) TeTae (b) aruer have

(a) fRSel fawmm (b)) M fawmr
(c) wEten fawmT (d) qrfTes weTor T

program into a machine language is called __ }

(a) Interpreter (b) Simulator
(c) Compiler (d)'None of these

understand execute

(a) Middle level language
(b) Machine level language
(c) High level language

(d) All of above

(a) Virtual information recourse under siege
(b) Virtual information resource under siege
(c) Virusinformation resource under siege .
(d) Vital information resource under siege
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